
Detail Results of Bee VRPSTW for Problem Instances C2
(Number of Customer = 100, Vehicle Capacity = 700)

Problem Result Plan: 1 Plan: 2 Plan: 3
Instances Type

avg TTC = 562.73,%WB = 11.85 TTC = 553.5,%WB = 11.8 TTC = 544.424,%WB = 12.05
C2 01 min TTC = 554.971,%WB = 11.7 TTC = 547.566,%WB = 11.7 TTC = 541.204,%WB = 12

(V = 3) max TTC = 570.489,%WB = 12 TTC = 560.222,%WB = 12.0 TTC = 547.644,%WB = 12.1
med TTC = 560.43,%WB = 11.8 TTC = 552.225,%WB = 11.8 TTC = 544.945,%WB = 12.0

avg TTC = 549.719,%WB = 10.1 TTC = 541.204,%WB = 9.7 TTC = 543.23,%WB = 9.7
C2 02 min TTC = 541.204,%WB = 9.7 TTC = 541.204,%WB = 9.7 TTC = 541.204,%WB = 9.7

(V = 3) max TTC = 558.235,%WB = 10.5 TTC = 541.204,%WB = 9.7 TTC = 545.275,%WB = 9.7
med TTC = 544.266,%WB = 10.0 TTC = 541.204,%WB = 9.7 TTC = 543.23,%WB = 9.7

avg TTC = 556.4615,%WB = 6.1 TTC = 548.762,%WB = 6.2 TTC = 545.630,%WB = 6.2
C2 03 min TTC = 549.445 ,%WB = 5.4 TTC = 542.201,%WB = 6.2 TTC = 541.204 ,%WB = 6.2

(V = 3) max TTC = 563.478 ,%WB = 6.8 TTC = 555.324,%WB = 6.2 TTC = 550.057 ,%WB = 6.2
med TTC = 560.009,%WB = 6.3 TTC = 547.02,%WB = 6.2 TTC = 545.0,%WB = 6.2

avg TTC = 560.938,%WB = 3.6 TTC = 542.239,%WB = 3.6 TTC = 542.239,%WB = 3.6
C2 04 min TTC = 551.445 ,%WB = 3.4 TTC = 541.204,%WB = 3.4 TTC = 541.204,%WB = 3.4

(V = 4) max TTC = 570.432 ,%WB = 3.8 TTC = 543.275,%WB = 3.8 TTC = 543.275,%WB = 3.8
med TTC = 560.456,%WB = 3.6 TTC = 540.0,%WB = 3.5 TTC = 540.0,%WB = 3.5

avg TTC = 556.712,%WB = 11.25 TTC = 542.239,%WB = 11.4 TTC = 542.239,%WB = 11.4
C2 05 min TTC = 547.374,%WB = 10.8 TTC = 541.204,%WB = 11.4 TTC = 541.204,%WB = 11.4

(V = 4) max TTC = 566.050,%WB = 11.7 TTC = 543.275,%WB = 11.4 TTC = 543.275,%WB = 11.4
med TTC = 555,%WB = 11 TTC = 542,%WB = 11.4 TTC = 542,%WB = 11.4

avg TTC = 558.409,%WB = 11.05 TTC = 544.947,%WB = 11.1 TTC = 544.947,%WB = 11.1
C2 06 min TTC = 556.673,%WB = 10.7 TTC = 541.204,%WB = 11.1 TTC = 541.204,%WB = 11.1

(V = 3) max TTC = 560.146,%WB = 11.4 TTC = 548.690,%WB = 11.1 TTC = 548.690,%WB = 11.1
med TTC = 559,%WB = 11 TTC = 545,%WB = 11.1 TTC = 545,%WB = 11.1

avg TTC = 549.377,%WB = 10.85 TTC = 546.226,%WB = 10.25 TTC = 946.226,%WB = 10.25
C2 07 min TTC = 543.275,%WB = 10.5 TTC = 541.204,%WB = 9.4 TTC = 541.204,%WB = 9.4

(V = 3) max TTC = 555.480,%WB = 11.2 TTC = 548.690,%WB = 11.1 TTC = 548.690,%WB = 11.1
med TTC = 550.555,%WB = 10.5 TTC = 547.854,%WB = 10.5 TTC = 1001.21,%WB = 7.3

avg TTC = 561.761,%WB = 10.25 TTC = 561.761,%WB = 6.15 TTC = 561.761,%WB = 10.25
C2 08 min TTC = 559.006,%WB = 9.7 TTC = 559.006,%WB = 9.7 TTC = 559.006,%WB = 9.7

(V = 3) max TTC = 564.516,%WB = 10.8 TTC = 564.516,%WB = 10.8 TTC = 564.516,%WB = 10.8
med TTC = 562.245,%WB = 10.5 TTC = 562.245,%WB = 10.5 TTC = 562.245,%WB = 10.5
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